Soft
Aluminium lugga

Fastening of the engine guard left: 1
at the two upper points of the engine
suspension. Original screws are obsolete.

Front: 0

sandwich steel spacer 225 x 811 x 58
and fix it with alien screw M 10 x 130
and washer @10,4.

Rear. @

fix it with allen screw M 10 x 90

and washer 10 4.

Fastening of the engine guard right:
at the two upper points of the engine
suspension. Original screws are obsolete.

Front: @

sandwich steel spacer 225 x 2811 x 68
and fix it with allen screw M 10 x 140
and washer 10,4

Rear:

fix it with allen screw M 10 x 80

and washer 10,4.




